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retemaraP lobmyS xaM stinU

egatloVtupnI V NI 7 V

noitapissiDrewoP PD detimiLyllanretnI W

tneibmAotnoitcnuJecnatsiseRlamrehT
)362-OT(MI6651CS
)022-OT(TI6651CS

θ AJ
06
05

W/C°

esaCotnoitcnuJecnatsiseRlamrehT
)362-OT(MI6651CS
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θ CJ 3
3

W/C°

egnaRerutarepmeTtneibmAgnitarepO TA 58+ot04- C°

egnaRerutarepmeTnoitcnuJgnitarepO TJ 051+ot04- C°

egnaRerutarepmeTegarotS T GTS 051+ot56- C°

.ceS01)gniredloS(erutarepmeTdaeL T DAEL 003 C°

)ledoMydoBnamuH(gnitaRDSE V DSE 2 Vk

retemaraP lobmyS snoitidnoCtseT niM pyT xaM stinU

NIV
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tnerruCtnecseiuQ IQ V NI V3.3= 57.0 57.1 Am

V NI V,V5.5= NE V0= 01 53 Aµ

OV

egatloVtuptuO )1( VO V NI V= O I,V7.0+ O Am01= %1- VO %1+ V

)egatloVdexiFlanretnI( %2- %2+

noitalugeReniL )1( GER )ENIL( V NI V(= O I,V5.5ot)V52.0+ TUO Am01= 530.0 3.0 %

noitalugeRdaoL )1( GER )DAOL( V NI V= O V7.0+ 2.0 4.0 %

egatloVtuoporD )2()1( VD IO Am01= 1 5 Vm
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IO Am005= 57 001 Vm
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�'�
�����8�,
�������
���

4�����
�����	�������
��
��
Unless specified: VEN = VIN. Adjustable Option (VADJ > VTH(ADJ)): VIN = 2.2V to 5.5V and IO = 10µA to 3A.
Fixed Options (VADJ = GND): VIN = (VO + 0.7V) to 5.5V and IO = 0A to 3A. Values in bold apply over the full operating temperature range.
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Unless specified: VEN = VIN. Adjustable Option (VADJ > VTH(ADJ)): VIN = 2.2V to 5.5V and IO = 10µA to 3A.
Fixed Options (VADJ = GND): VIN = (VO + 0.7V) to 5.5V and IO = 0A to 3A. Values in bold apply over the full operating temperature range.
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